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	By the end of this topic, you will be able to explain the purpose of evaluating liquidity and define and calculate basic credit measurements for liquidity. Let’s get started.


	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Liquidity ratios evaluate a company’s liquidity position with respect to its short-term debt obligations.

By the end of this topic, you will be able to:

· Explain the purpose of evaluating liquidity

· Define and calculate basic credit ratios for liquidity


	Mood-setting

Image of cash and currency notes



	Navigation

	Previous
	<disabled>

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments

	Delete page title ‘Topic Overview’
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	Audio Script – Narrator Voice-Over 

	By evaluating liquidity, we can measure a borrower’s ability to meet financial obligations when due in the course of business, without disrupting normal operations.  This is measured through three ratios – working capital, working capital-to-AGI, and current ratio. This topic will focus on these three key ratios.  


	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	What’s liquidity?

Liquidity is the ability to meet financial obligations when due in the course of business, without disrupting normal operations. It is measured by:

· Working capital (WC)

· WC / Adjusted Gross Income (AGI) %
· Current ratio

	Mood-setting 

A water mark of cash and coins and have these words, prominently placed as a mood graphic.

Working capital (WC)

WC / Adjusted Gross Income (AGI) %

Current ratio


	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Let’s first look at working capital.  Working capital is a theoretical measure of funds available, in dollars, after selling current farm assets and paying all current farm liabilities.  Its adequacy is relative to size of the farm business.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Working Capital (WC)


In simple words, WC is the amount that current assets exceed the current liabilities. It is:

· The theoretical measure of funds available to purchase inputs and inventory items after selling current farm assets and paying all current farm liabilities.

· WC adequacy is relative to size of the farm business

· Measured in dollars

· Difficult to compare with other businesses

· No underwriting standard

· Considered as a security blanket for the business


	Show the schematic of a balance sheet graphic, with the working-capital line. (refer to working_capital.doc, if necessary)

Show the formula as formatted in a box.


	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Let’s calculate working capital based on the information in the financial statements that you prepared earlier.  




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Calculating the Working Capital 

Click the Balance Sheet to view the Brown family’s balance sheet. Based on the numbers in the balance sheet, enter the working capital amount and click CHECK MY ANSWER to see how you’ve done. Do NOT use any commas.
	Refer to working_capital_treatment.doc for example treatment.

Refer to section 1 of financial_analysis_ratios.doc for correct response and explanation


	Correct Answer: 66,365
	

	Feedback: (an immediate feedback is generated followed by the check marks)

Solution:

Working Capital = Current Assets – Current Liabilities

                          = $150,365 -$84000

                          = $66,365


	Use the document – ‘Balance Sheet So far’ for the button Brown family’s balance sheet, refer to the section - Balance Sheet so far –Net Worth Calculation – Page 23

	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	The next liquidity measurement is working-capital-to-AGI.  It represents the relationship between the current portion of the balance sheet and income statement.   An acceptable standard for farms is a working capital-to-AGI of greater than or equal to 15%.  




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Working Capital / AGI %


The ratio of Working Capital to AGI:

· Indicates relationship between current portion of balance sheet and income statement

· Is a standard:  Farm > 15%


	Show the schematic of a balance sheet, and a schematic of an earnings statement. Show the relationship between the current portion of the balance sheet and the income portion of the earnings statement. See working_capital_agi.doc for example.




	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	Let’s apply this.  In the following exercise, you will calculate the working capital-to- AGI % based on the Brown Family earnings statement.  Just like in the last exercise, you will be able to access a calculator to complete your work.  When complete, click on “Check My Answer” to see how you did.




	Text on Screen (Exact wording that will appear on screen)
	Graphics (Description, placement on screen, location if known)

	Calculating the Working Capital-to- AGI %

Based on the information provided in the completed balance sheet and earnings statement, enter the Working Capital/AGI% to the nearest integer, and click CHECK MY ANSWER, to see how you’ve done. Do NOT use any commas.


	Use similar treatment as working_capital_treatment.doc. There will be an additional button labeled “Earnings Statement”. Clicking this button will bring up the completed Earnings Statement in a separate window.

The label for the textbox should read “Working capital/AGI %”

Use the following on-screen instructions (in lieu of instructions provided in working_capital_treatment.doc)

“Based on the information provided in the completed balance sheet and earnings statement, enter the Working Capital/AGI%  to the nearest integer, and click Check My Answer. Do NOT use any commas.”

Refer to section 2 of financial_analysis_ratios.doc for correct response and explanation


	Correct Response = 19%.
	

	Solution:

Working Capital = $66,365

Value of Farm Production = $289,141 (line 11 of Earnings Statement)

Gross Non-Farm Income =  $68,000 (line 41 of Earnings Statement)

Working Capital/AGI % = 66365/(289141 + 68000) * 100 %

                                       = 19%

Notice that 19% is greater than the standard of 15%.  Remember that the standard is greater than or equal to 15%.  This indicates that a greater portion of Brown Family’s working capital has adequate margin.

	Use the document – Earnings statement  in the current build
Use the document – Balance sheet so far.doc  - refer to the section - Balance Sheet so far – Net Worth Calculation – Page 23


	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application
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	The last liquidity measurement that we will discuss is current ratio.  It is the total current farm assets divided by the total current farm liabilities.  The higher the ratio, the greater liquidity; guidelines recommend that full time farms should have a ratio greater than or equal to 1.5: 1, and part time farms should have a ratio that is at least 1:1.
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	Current Ratio


The current ratio:

· Is expressed in ratio, for example, XX: 1

· Indicates the extent to which current farm assets, if liquidated, would cover current farm liabilities

· Implies greater liquidity if it is a higher ratio 

· Serves as the following guidelines:

· Farm > 1.5: 1

· Part-time farm:  1:1
	Show schematic of balance sheet

Highlight the current asset and current liabilities portion.


	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	In this third exercise, you will determine the current ratio for the Brown Family case.  Follow the directions on the screen and proceed.
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	Calculating the Current Ratio

Based on the information provided in the completed balance sheet, enter the Current Ratio amount, and click CHECK MY ANSWER, to see how you’ve done. Do NOT use any commas.


	Refer to working_capital_treatment.doc for example treatment. For this screen, the button “Earnings Statement” will not be provided. The label for the text-box should read “Current Ratio”.

Use the following on-screen instructions (in lieu of instructions provided in working_capital_treatment.doc):

“Based on the information provided in the completed balance sheet, enter the Current Ratio amount, and click Check My Answer. Do NOT use any commas.”

Refer to section 3 of financial_analysis_ratios.doc for correct response and explanation


	Correct Response = 1.79
	

	Solution:

Total Current Farm Assets = $150,365

Total Current Farm Liabilities = $84,000

Current Ratio = Total Current Farm Assets/ Total Current Farm Liabilities

                    = 150365/84000

                     = 1.79

How does the Brown Family’s current ratio of 1.79: 1 compare with the guidelines?  A current ratio greater than the guideline of 1.79: 1 indicates the Brown Family’s Farm is more liquid than the recommended minimum.


	Use the document – Balance sheet so far.doc  - refer to the section - Balance Sheet so far – Net Worth Calculation – Page 23


	Prompt: Click CHECK MY ANSWER to know how you’ve done.
	


	Navigation

	Previous
	Takes the learner to the previous page

	Next
	Takes the learner to the next page.

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application


	Additional Comments
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	In this topic, you learned about liquidity and the ratios that measure it. To recap, these ratios are working capital, working capital-to-AGI, and current ratio.
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	Let’s summarize what you have learned. In this topic you have learned and understood about:

· The working capital and liquidity

· Calculating the following:

· Working capital

· Working capital / AGI %

· Current ratio


	Mood-setting

Standard summary

DSC00595 – people at work

	Prompt: Click LESSON MENU to begin the next topic.
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	Takes the learner to the previous page

	Next
	<disabled>

	Lesson Menu 
	Takes the learner to the lesson menu to which the current topic belongs.

	Glossary
	Glossary pages are displayed in a separate window. 

	Help
	Help pages are displayed in a separate window.

	Exit
	Exits the application
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WC = Total current farm assets – Total current farm liabilities








Working Capital / AGI % = Working Capital / (Value of Farm Production + Gross Non-Farm Income)











Current Ratio: Total Current Farm Assets / Total Current Farm Liabilities
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